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1. The appropriate control for pseudoconditioning is to employ a conditioning group and a control group. The
animals in the control group are exposed to the same number of CS and US presentations as the animals in
the experimental group, but in the control group

A. the CS and US presentations are unpaired and presented randomly.
B. the CS never precedes the US.

C. the CS is different than the CS in the conditioning group.

D. the US is different than the US in the conditioning group.

2. Which of the following is not-an example of an operational definition?
A. aratis hungry when the rat craves food
B. great grandpa's recipe for moonshine
C. an actor has memorized his lines when he can repeat all of his lines twice without an error
D. reaction time is the interval between the presentation of a stimulus and the participant's response

3. Which of the following is NOT true?
A. Scale attenuation effects can be a problem in research on memory.
B. Forced choice tests are preferred to yes/no tests because correcting for guessing is less of a problem
with the forced choice procedure.
C. There is a clear-cut distinction between recall and recognition.
D. The number of errors made on a memory test is frequently used as a dependent variable in memory
experiments.

4. When a researcher finds that the same instructions to the participants in a memory experiment have
different effects on their memory depending on how they are tested,
A. there is a main effect for instructions given to the participants.
B. there is no effect of instructions.
C. there is a main effect for type of test.
D. there is an interaction between instructions and type of test.

5. A researcher records mean response time in milliseconds for a group of participants who perform a
Donders A task and a Donders C task under two conditions. In one condition, they do the reaction time
tasks alone; in the other condition, they perform the two tasks while doing a secondary attentionally
demanding task at the same time. Reaction times for the Donders A task are the same for both conditions
of the experiment; however, reaction times for the Donders C task are longer when the secondary task is
being performed. Using the subtractive method, these results suggest

A. the secondary task slowed down the identification time of the participants.
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10.

B. the secondary task speeded up the baseline reaction of the participants.
C. the secondary task slowed down the baseline reaction of the participants.
D. the secondary task slowed down the selection time of the participants.

The participant in an experiment has the right to
A. withdraw at any time only in certain types of experiments.
B. withdraw only prior to the start of the experiment.
C. withdraw only if the experimenter agrees.
D. withdraw at any time.

In order of increasing informativeness, the measurement scales are
A. interval, ordinal, ratio, and nominal.
B. nominal, ordinal, interval, and ratio.
C. ordinal, interval, nominal, and ratio.
D. ratio, ordinal, nominal, and interval.

In order to manipulate attention, psychologists gradually increase task demands until the subject can hardly
complete them. This is known as

A. d.

B. confounding.

C. overload.

D. manipulation check.

FEE IR (19%) -

What is stimulus onset asynchrony (SOA) in psychological experiments? (3%) Give an example of
experiment with the SOA manipulation (4%) and explain how the SOA manipulation could help to
understand mental processing in the experiment. (4%)

The counterbalancing technique is useful for the (a) (2%) design to minimize the (b)

(2%) effect by systematically arrange (c) (2%) of the conditions presented to participants. When
there are more than two conditions, (d) (2%) is recommended for optimal counterbalancing.
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